. VCE & PDF https://www.pass4itsure.com/fc0-u61.html
g 2024 Latest passditsure FC0-U61 PDF and VCE dumps Download

PassditSure.com

FCO-UB1R4As

CompTIA IT Fundamentals+ Certification Exam

Pass CompTIA FC0-U61 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.pass4itsure.com/fcO-u61.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by CompTIA
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest FC0-U61 Dumps | FC0-U61 Practice Test | FC0-U61 Exam Questions 1/3


https://www.pass4itsure.com/fc0-u61.html
https://www.pass4itsure.com/fc0-u61.html
https://www.pass4itsure.com/fc0-u61.html

VCE & PDF https://www.pass4itsure.com/fc0-u61.html
a 2024 Latest passditsure FC0-U61 PDF and VCE dumps Download
== / PassditSure.com

QUESTION 1

Which of the following terms best describes the outcome of a text message that is encrypted from its original form?
A. Cipher

B. Vector

C. Plain

D. Algorithm

Correct Answer: A

QUESTION 2

A startup company has created a logo. The company wants to ensure no other entity can use the logo for any purpose.
Which of the following should the company use to BEST protect the logo? (Choose two.)

A. Patent

B. Copyright
C. NDA

D. Trademark
E. EULA

Correct Answer: BD

QUESTION 3

Employees of a large technology company are provided access to the internet as a work resource. Which of the
following most likely represents the level of privacy employees should expect when utilizing this resource?

A. Only the attempts to access unapproved URLs are logged.

B. All internet usage is logged by a corporate server and may be monitored live.
C. All internet browsing is private and anonymous.

D. Only the attempts to access sites that include prohibited keywords are logged.

Correct Answer: B

QUESTION 4

Which of the following allows wireless devices to communicate to a wired network?
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A. Modem

B. Switch

C. Firewall

D. Access point

Correct Answer: D

Access point allows devices to connect to the internet through wireless
Devices (Wireless) -> Access Point -> Router -> Modem.

Access point and Router can be combined as one device which is common these days.

QUESTION 5

A security administrator needs to set up multifactor authentication for a cloud application. Which of the following should
the administrator use to establish an authentication process? (Choose two.)

A. Logs

B. Password

C. Receipt

D. Encryption

E. Database

F. Software token

Correct Answer: BF
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